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Ben's Pets

Ben has two cats.
Their names are Max and Tito. Max is black with brown eyes. Tito
is brown with blue eyes.

They can move very fast. They are very beautiful. They are fast and
beautiful.

Ben also has a bird. Her name is Lilly. Lilly likes to sing. Lilly sings every
day. Sometimes she sings very loudly.

Max and Tito try to discover who is singing.They look everywhere!
Finally, they see who is singing. It is Lilly!

They sit and watch her sing.

1) How many cats does Ben have?

Al
B. 2
C.3

2) Max and Tito are

. fast
Il.  beautiful
. lazy

A. I only
B. land I
C. I, I, and I

3) Tito's eyes are
A. blue
B. red

C. green
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4) What is the name of the bird?

A. Tito
B. Max
C. Lilly

5) What color is Max?

A. Max is orange.
B. Max is brown.

C. Max is black.

6) If Ben wanted another pet, what kind of pet do you think he should get? What kind of animal
do you think would get along best with the pets Ben already has? Why?
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Answers and Explanations

1) B
Core Standard: Key Ideas and Details

The first line of the passage says, “Ben has two cats.” Choice (B) is correct.

2)B
Core Standard: Key Ideas and Details

In the middle of the passage, it says, "They can move very fast.” This means option (l) is true.
In the middle of the passage, it says, "They are very beautiful.” This means option (ll) is true.

The passage does not say that Max and Tito are lazy. At the end of the passage, Max and Tito try
to find out who is singing. It says "Max and Tito look everywhere!" This is not something that a
lazy cat would do. This means option (lll) is not true.

Choice (B) is correct.

3)A
Core Standard: Key Ideas and Details

At the beginning of the passage it says that Tito has blue eyes. Choice (A) is correct.

4)C
Core Standard: Key Ideas and Details

In the middle of the passage we learn that Ben has a bird. The passage says, “Her name is
Lilly.” Choice (C) is correct.

5)C
Core Standard: Key Ideas and Details

At the beginning of the passage we learn that Max is black. Choice (C) is correct.
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